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	2016.09 New 400-201: Cisco CCIE Service Provider Written Exam v4.1 Exam Questions Updated Today! Free Download 400-201

Exam Dumps(PDF & VCE) 414Q&As from Braindump2go.com Today!100% Real Exam Questions!    100% Exam Pass

Guaranteed! NEW QUESTION 21 - NEW QUESTION 30 1.|2016 New 400-201 Exam Dumps(PDF & VCE) 414Q&As

Download:http://www.braindump2go.com/400-201.html2.|2016 New 400-201 Exam Questions &

Answers:https://drive.google.com/folderview?id=0B75b5xYLjSSNRjJsZE5Fd04xYTQ&usp=sharing QUESTION 21What IOS

commands display MPLS label mapping on an LSR? A.    Show mpls ldp parametersB.    Show mpls ldp bindingsC.    Show mpls

forwading-tableD.    Show mpls ldp discoveryE.    Show mpls ldp neighbor detail Answer: B QUESTION 22Drag and Drop

Questions  

 Answer:   

  QUESTION 23Refer to the exhibit. The vrf MAINT has been provisioned and used by the Service Provider management network.

The engineer discovers that syslog messages are not being received on the syslog server. IP reachability has been validated using

ping. Which issue in the configuration must be corrected?  

  A.    logging on must include the vrf MAINT keyword.B.    logging host must include the vrf MAINT keyword.C.    The logging

facility must be configured for syslog processing.D.    The route targets that are configured do not match the route distinguisher.

Answer: BExplanation:http://www.cisco.com/c/en/us/td/docs/ios/12_2sr/12_2sra/feature/guide/srvrfslg.html#wp10 59076

QUESTION 24Which are the three header fields that affect how Equal-Cost Multipath hashes traffic flow into interface groups?

(Choose three.) A.    source MAC addressB.    source portC.    source IP addressD.    destination IP addressE.    IP protocol IDF.   

destination MAC address Answer: BCD QUESTION 25An R1 router requires an equal load balancing to reach the prefix

192.168.0.0/16 over two exit points: through R2 and R3 routers. Which two options must be configured on the R1 router to achieve

this goal? (Choose two.) A.    The BGP maximum path feature must be configured on R1.B.    The BGP PIC core must be enabled

on R1C.    Weight, local-pref, MED, as-path length, origin, and the BGP next-hop IGP cost must be the same for the R2 and R3

IBGP updates to R1.D.    The BGP Link Bandwidth feature must be applied on R1.E.    BGP extended community exchange must be

enabled between IBGP neighbors. Answer: ACExplanation:BGP link-bandwidth is for unequal-cost routes. QUESTION 26A

company is deciding between an HVR and SVR solution in order to finalize a virtualization project proposal. Which is an advantage

of a HVR solution versus a SVR solution? A.    A HVR solution implements dedicated data plane resources.B.    A HVR solution
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implements shared control plane resources.C.    A HVR solution introduces significant contention of resources.D.    A HVR solution

implements dedicated chassis resources. Answer: AExplanation:

http://www.cisco.com/en/US/solutions/collateral/ns341/ns524/ns562/ns573/white_paper_c11-512753_ns573_Networking_Solutions

_White_Paper.html QUESTION 27Which three of these are optical channel data unit (ODU) overhead fields? (Choose three) A.   

general communication channel 0 (GCC0)B.    section monitoringC.    reserved (RES)D.    general communication channels 1 and 2

(GCC1 GCC2)E.    tandem connection monitoring activation deactivation (TCM ACT) Answer: CDE QUESTION 28Which three

modes are the operating of HDLC? (Choose three) A.    asynchronous balanced mode (ABM)B.    normal response mode (NRM)C.   

normal peer mode (NPM)D.    asynchronous client mode (ACM)E.    asynchronous response mode (ARM) Answer: ABE

Explanation: Asynchronous response mode is an HDLC addition[1] for use over full-duplex links. While retaining the

primary/secondary distinction, it allows the secondary to transmit at any time. Asynchronous balanced mode added the concept of a

combined terminal which can act as both a primary and a secondary. There are some subtleties about this mode of operation; while

many features of the protocol do not care whether they are in a command or response frame, some do, and the address field of a

received frame must be examined to determine whether it contains a command (the address received is ours) or a response (the

address received is that of the other terminal). QUESTION 29BGP best route selection process is based on what? A.    path attributes

B.    lowest costC.    highest bandwidthD.    lowest delayE.    lowest hop-count Answer: A QUESTION 30Refer to the exhibit. In the

short-pipe QoS mode, this customer has QoS control for which two links? (Choose two.)  

  A.    aB.    cC.    dD.    bE.    e Answer: AE  !!!RECOMMEND!!!  1.Braindump2go|2016 New 400-201 PDF & 400-201 VCE

414Q&As Download: http://www.braindump2go.com/400-201.html 2.Braindump2go|2016 New 400-201 Questions & Answers: 

https://drive.google.com/folderview?id=0B75b5xYLjSSNRjJsZE5Fd04xYTQ&usp=sharing
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